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1.

(1) (i) and (iv)

Where is the Rajasthani Bhasha, Sahitya and
Sanskriti Academy located?

(1) Jaipur (2) Udaipur

(3) Bikaner (4) Jodhpur

* Consider the following statements pertaining to

the Ahar Civilization — .

(A) The natives of Ahar knew copper smelting.

(B) Rice was unknown to them.

(C) Metal work was one of the means of
economy of the Ahar.

(D) Black — Red coloured pottery have been
found here, on which generally white
coloured geometrical designs have been
carved.

Choose the correct option -

(1) C and D are correct

(2) A and B are correct

(3) A, C and D are correct

(4) A, B and C are correct

What is ‘Aanau’ in social customs and traditions

of Rajasthan?

(1) Going to see the bridegroom’s weddmg place

by bride’s family

(2) Well worship

(3) After marriage sending bride toher in-law’s

house for the second time

(4) Worship of Jal Jhulni Ekadashi

Which of the following Doctrines are associated

with Jainism?

(i) . Anekantavada

(i1) Sarvastivada

(111) Sunyavada

(iv) Syadvada

Select the correct answer using the code given
below - _

(2) (i), (ii) and (iii)

(3) (ii) and (iii) (4) (ii) and (iv)

A,

/2‘2

RTeTRoT) . AR Td AP SpTeHl BEt
raRerg &7
(2) SR X

(1) SR
@) SR (4) STErgR

AMEs warmr @ R § P O W fIER
Laliv g

(A) STeard) qfar Tl W A |

(B) A vy araer & aRRr el |

(C) T @7 P enEeamRyAl @ Jefcaaw B
U HY off |

(D) 78t ¥ Prey — wret 1 AAUS e &, R

"W A w7 ) it st
IHY TE |

W ey &1 =a7w AT —

A Cud D we &

@) Avd BwE &

G)A,Cwd D w2

@) A, BTd C wEI#

/3. TSR % S~ Rt 3§ el @ 87

A1)'Goeq & IRIR g R F IR BT SN
G ST |

(2) B3 o

AS)ﬁaﬁa%wamwﬁqeﬁmwa
CICE

48 ST B TebreE o

A F=fafea § ) a9 - Eﬁhﬁﬁl?&'ﬁﬁﬂuﬁ

QA et 87

(i) @A t
(ii) wdRar
(111) AT
(iv) HTqdrg
T T W™ S BT SW W FE SR
3T -

(1) (i) Tg (iv)
(3) (i) U9 (iii)

(2) (i), (i) T9 (iii)
£8) (ii) 9 (iv)

Which of the following statement regardlng | & B e # e H -\e{ T e '\‘Tﬁ
Ruma Devi is not true?” a8 ¥
. (1) She was brought-up in the village Jasrapm ) SRR (@) e ¥ T — @ |

- | i (Z)ﬁmw%vwﬁmzmaﬁ:nﬁmﬁa
(2) She was felicitated with ‘Nari Shakti Award® A il

by the President of India iri 2018. REPR Hma‘;”i; f "
(3) She is known in the field of Handicrafts. (3) = ERIA . Sl
(4) She played a major role in providing . (4) T2 goRI Afgeel B ISR qgral =
~ employment to Thousands of Woman. . ¥ o aeiEry FrE |
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6. Among Mauryan idols, the idol inscribed wit, 6. A1 HEH
the name Manibhadra (Yaksha) was found from

offar &, AfmE (@) T A siftee

, ?
i | 7 fbe o & 9T g8 B
(1) Besnagar (2) Jhing-ka-Nagra (1) S9N (2) HT—F—TRy
(3) Parkham (4 Noh village (3) Tx (4) e I |
7. Varika Vishnuvardhan Victory Tower situated /7/ EIIrFIT gt Rera aR® ﬁ“’lﬂ?j"" far wm fare
in Bayana Fort belongs to which period? BTo] BT HFT Il &8¢ |
(1) The Mughal period (1) FTer It
(2) The Mauryan period (@) i1 Brer <
() The Sultanate period | (3) e Tt
~ (4 The Gupta period : (@) [ BT
8 Match list-T with list-II and choose the correct 8" {l—I Td G-I P GAferT BIRTT Il i
* answer from the code given below - fed T4 T # | |E S gfe —
List—I . ‘ gfr_ﬂ_L
(A) Vrihi | O (A) T
(B) Mudga ' (B) A&
(C) Yava ' : (C) 9 .
(D) Ikshu (D) 38
List-II e m
(1) Sugarcane _ _ ‘ @ T '
(i) Rice A il e
(iii) Mung bean € QhaIRd e
Gv) Millet - - WO AT
Code - : @) ot
g; i_gﬁ)BB(z;f((:1_1(11))’%_(33 . ) A (i), B-(ii), C-(jii), D-(iv)
(8) A-(iv), B~(iii), C-(ii), D-Gi) | v (3 ﬁ'(m)’ g“‘“’) e
@ A-(i), B-(ii), C-Gv), D-()  ~ egdiss 0, B 00, i, D0

- --'(4) A- (11), B-(iii), C-(iv), D-(i)
9. Match list-I with Tist-IT and choose the correct . 9 TH-1 Td A1 B AT BTG T =

answer from the code given below - | g ﬁf‘ T e H q Wg‘ ERMICE M
List-I - | Sf'ﬂ
(A) Howrah Conspiracy case . - , (A) ECSIRUE Eﬁﬂ
(B) Lahore Conspiracy case  (B) @ER LEUE Y
(C) Delhi Conspiracy case v ' (C) ﬁﬁ'ﬁ TSI B
_ (D) Alipore Conspiracy case _ (D) AR w8F B
, List-IT S EE=I
i) Master Ami Chand (Amir Chand) (i) ¥ReR e (@Fﬁﬁl‘c{)
(i) Arvind Ghosh (i) -Rf[A=< Oy *
?u; Jatindranath Mukherjee (iii) STfavgTer ﬂ@gﬁ
1v) Rajguru TR : W
Code - : ' -(;:—.;2 -

(1) A-(ii), B-(jii), C-(iv), D-(i)
2) A-(i), B-(ii), C-(ii), D- -(iv)
(3) A-(iv), B-(iii), C-(ii), D-(i) '
@ A(iii), B- (1v) C-(i); D-(ii)

(1) A—(u), B-(iii), C-(iv), D- (1)
(2) A-(i), B-(ii), C- ~(iii), D-(iv)
@) A-(iv), B~(iii), C-(ii), D-()
(4) A-(iii), B-(iv), C-(i), D-()
:(39_4 e T

-— ‘\ *
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y FITY a2 g
10.  Match list-1 with list-II and choose the correct 4 10. HH-1 vd ;{iﬁ-—ﬂ i 'ﬁqﬁa

answer from the code given below -
List-I
estival
(A) Kajli Teej of Bundi
(B) Holi
(C) Paryushan Parva
(D) Gangaur
List-I1
(Date/Month of celebration)
(i) The third of Bhadrapad Krishna
(it) Full moon day of Phalgun
(i11)) Bhadrapad Month
(iv) Chaitra Month
Code -

(1) A<(i), B-(ii), C(iii), D~(iv)
(2) A~(i), B-(ii), C~(iv), D-(iii)
(3) A(ii), B-(iv), C(i), D(ii)
(4) A(iv), B(iii), C(ii), D-(i)

%ﬁnﬁ@ﬁﬁﬂﬁﬁ'\’ﬂﬁq_
i L

()
(A) T B Borcll A
(B) ®reft

(C) wggurud ~
(D) ToRiR

-1

(Scam @ fafd /@m8)
(i) eUg Pwr R
(ii) P gt
(iii) #5Ug A -
(iv) 33 9’
ae - :

AN A-(i), B(ii), C-(ii), D-(iv)
(2) A-(i), B(ii), C(iv), D-(iii)
(3) A-(iii). B-(iv), C(i), D-(ii)
(4) A-(iv), B(iii), C(ii), D-(i)

- The Rajamundri Social Reform Association to (13- faar wifar 1 sieifed o< & wiwar

encourage widow re-marriage was founded in
1871 by - -

(1) K. T. Telang
(2) Veeresalingam
(3) K. Ramakrishan Pillai

(4) Gopalachaﬁh .
Where and whe Q@r&vﬂm rl]
— Saroor” published?

(1) Ajmer, 1840 (2) Udaipur, 1879

(3) Jaipur, 1856 (4) Bharatpur, 1849

- Consider the following statements and choose
the correct answer using the code given below —
~ Statement 1 : Krishnadevaraya, ruler of

3-%@%@%%@?%@-

1871 5. & Wog< driel ReM Gaikge
enfa far war oar —

M 3. & G&7 gRY

(2) reafeima e

@) %, IFor Uews R
(4) TNUTaERGR ERI

e A
(Z/9maR v 7oeed W) 8 ¥ AR B9
TSI gan?
(1) ISR, 1840 (2) 3<agR, 1879

(3) SagR, 1856 (4) TRAgR, 1849

e
mmmﬁgﬂﬁmﬁ'mﬁﬁﬂz‘;:
& 1 : dogR 5 NS FURERT

Akalyas T e o, IR 3 3 v

mu . 5 N

StatcmentZ:tIlfﬁshnade;%;l}:'iﬁa;lol_mOWﬂby ? 'mgmmaw%ﬁ

e name 0 0j. ) .

Statement 3 : Allasani Peddana, thepoétlaurcam PR R e i B o —

- well versed in Sanskrit and Tamil, . pfa Ut '(iﬂfﬂ AT, ST
adorned his court. Y G ST A a1 s e

Code - ac —

(1) Statement 1 is true (1) P 1 WS 2 -

(2) Statement 2 is true (2 B2 2 wh &

(3) Both the statements 1 & 2 are trye (3) P 1 3R 2 &l &

(4) All the three statements are trye /ﬂ'ﬁ"ﬁﬁﬂ?{‘ﬂﬁ%

R VI

- e e
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1% When and where was the Central

" Electrochemical Research Institute established

with the efforts of Alagappa Chettiar, Dr Shanti-

Swaroop Bhatnagar and Pt. Jawahar Lal Nehry?

(2) Shivganga, 1953
(4) Karaikudi, 1953

(1) Chennai, 1948
(3) Lucknow, 1951

- Bhatiyani Pratapkunwari, the queen of Jodhpur

- King Mansingh got the temple reconstructed
elsewhere as the earlier one had caved in. She
got the temple consecrated in 1857. The name of

temple is - -

- (1) Ghanshyamji Temple
(2) Mahamandir

(3) Kunj Bihari Temple

(4) Teeja Manji Templc

16. -During the Quit India Movement, a girl named_»
Kanaklata Barua led a- pubhc procession and

" defying ‘the police, ‘tried to ‘enter- the police
station but was shot'dead. This. incident took

place at - oHle 2
(1) Gohpur - (2) Korapur
(3) Sonitpur (4) Midnapur

- Match list-T with list-IL and choose the correct

~answer from the code given below- L
List-1
(Folk Musical Instrumen_)

-(A) Bhapang .

(B) Nad

(©) Algbza ‘

(D) Kbartal
List-II' -

(Famous Music Amst)

(i) Sadig Khan . "

(i) ZahoorKhan - -~

(iii) Karna Bheel.

@iv) Ramnath Choudhary

Code -

(1) A-(ii), B-(iii), C-(iv), D- (1)
(2) A-(iv), B-(iii), C-(ii), D-(i)
(3) A-(i), B- (11) C-(iii), D-(iv)
',(4) A—(u), B-(i), C- (111), D @iv)

o ,__(3)'\'=|‘rﬁ'|?|3'<'

'_T@—Iwﬁ—ﬂﬁgﬁ%ﬁaﬁﬁmﬁm:ﬁﬁ
T A AT S -

areraqr AfeaR, S WA T eqpr o
4 SraTeRETel E® & T W B o vy o
Tg?

(1) A=<, 1948 (2) R, 1953

(3) er@T, 1951 (4) PRIEHE, 1953

%mﬁmwﬁﬂﬁﬂﬁ?ﬁﬂqw

eiifep Ter arer HieR ST H ¥ T o, aik

wﬁwﬁwaﬁr@mﬂﬁmlwnﬁr
BT A © —

(ﬂEFﬁ'IITHGﬁWHﬁ‘\’

(ﬂ%ﬂﬁ?

' (S)Wﬁmﬂrﬂ%?
TﬂiﬂﬁTHﬁﬁWﬂﬁ‘\"

mﬁaﬁ@?aﬁﬁﬂ?{zﬁaﬁ?ﬁ AT TRa]
Wwwﬁmwwwﬁaﬂw‘

'aﬁvgﬁlﬂaﬁmﬂmﬁ@uﬁﬁgﬂﬁzﬁ

mﬁrﬂ%ﬁ%lwmﬁmwﬁ?

(1) Th%g'\r @ aa‘mg“f
- (@) AR

=L
(‘caﬁtneraa)

" (A) mm

@ T

(©) eﬂaTh\—:n.r
(D) @WJ

(e W)
(1) He. wf
(i) TR &t
(iii) Fort oy -
(@iv) wﬁm ey
.Eb—c," =
(1) A~(ii), B- (111‘)1‘ C-(iv), D- (1)-
2) A-(iv), B-(iti), C-(ii), D-(0).
(3) A-(i), B-(ii), C-(iii), D-(iv)
(4) A-(ii), B- @, C- (111) D-(iv)
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18. When and with whose efforts was Indian

19.

Institute of Science established in Bangalore?
(1) 1911, Meghnad Saha

(2) 1930, 1. C. Bose -

(3) 1909, Jamshed ji Tata

(4) 1917, Praful] Chand Rai

Which one of the following pair is not correctly
matched?
Books — Authors
(A) Neh Tarang - Sawai Pratap Singh -
(B) Nagdaman - Sﬁyz_mji Jhula
(C) Ranmal Chhand - Shridhar Vyas

(D) Bhasha Bhushan Maharaja Jaswant Smgh ‘

18 mmmmﬁ w

% %7 ol e Rl 9 B
(1) 1911, HeFre @S

(2) 1930, W, &1, 9

(3) 1909, SEE €l

(4) 1917, ygpeer g X
%mﬁmﬁmwwwﬁﬁﬁ'aaﬁ

TS — oAGd
(A) & TT — waTE FARiE

(B) rTeRY — Wil g
(C) 3o B — AR A
(D)WW—,WW%EJ

(M C (2D .McC (2) D -
(®) B @A 5 B @A
20. Match list-I with list-Il and choose the corréct }6' -1 T G-I BT gAferd W T A
answer from the code glven below - ﬁ'& TWHe A ¥ ?Té’f IR ?ﬁm -
List-1 , -l
(A) The Battle of Gagron (A) .W el ‘g‘,g
(B) The Baitle of Sarangpur (B) WRTR F1 I5
(C) The Battle of Summel © T w IR
(D) The Battle of Saheba D) AR T ﬂ?&'
@ 20929 @ 1519%. +
W) 1544AD i) - 1544 % -
G} A (i) 14378 74O
uv: 1355450 (v) 1541-42%
Code - ®wm |
() A-G), B-Gi, €, D) 1) A-Q), B-(i); (i), D-(v)
(2) A-(iv), B~(iii), C-(ii), D-(3) - (2) A-(iv), B-(ii), C(ib), D-(i)
(3) A-(i), B-(ii), C-(iii), D-(iv) (3) A-Q), B-i), c;(ﬁi‘),-D "(iv) |
(@) Ac(ii), B-(i). C-(v), D-0) (4) A-Gi), B-(ii), C-Giv), D-G) |
“21. - On which part of body “Toti’ orament is worr? . Eﬁ'cff GTPF’T WK $ g 1%;:@[ ¥ UeT o
(1) Nose @ Hand”' (1)_:1135 - (2) 7rer K
| @) Waist. (4) Bars (3) B2 @ B
0]7 f* i Page 6 of 32 |
3, wlj \‘ i



A\

#
T

'22. The Saints named Bakhnaji, Sant Das Jj,

23.

24,

26.

"

Jagannath Das and Madho Das were associated

with which of the following Sect?
(1) Jasnathi Sect (2) Ramsnehi Sect

(3) Dadu Panth (4) Laldasi Sect

Match list-I with list-Il and choose the correct
answer from the code given below -
List-I

(Tirthankara)
(A) Parshvanath

(B) Adinath
(C) Mahaveer
(D) Shantinath
List-II
(Their cognition)
(1) Bull
(1) Lion
(1i1) Snake
(1v) Deer
Code -
(1) A-(ii), B-(i), C-@i), D-(iv)
(2) A-(i), B-(ii), C(iii), D-(iv)
(3) A~(ii), B-(iii), C-(iv), D-(i)
(4) A-(iv), B-(iii), C-(ii), D-(i)
Name the revolutionary woman, who
participated ‘in the Peasant Movement of
Bijoliya and was arrested. She also participated
in 1930 Satyagrah and 1932 Civil Disobedience
Movement and was sentenced to Jail -
(1) Anjana Devi Chaudhary
(2) Ratan Shashtri
(3) Kishori Devi
(4) Rama Devi
Where in Rajasthan, the printing press ‘Vedic
Yantralaya® was established?
(1) Jaipur (2) Udalpur
(3) Ajmer (4) Jodhpur

Fundamental Duties were incorporated in 1 the
Constitution on the recommendation of -
(1) Santhanam Committee

(2) Administrative Reforms Commission
(3) Shah Commission

—_

(4) Swaran Singh Committee

-
ux
C-’

e

"'n"li“. 'g'
\ 1}

S 1) T | i) 52 1 [ 2

--'J"k-w#‘l

fe.

23.

}4
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& wn oAr? +
(1) e wE A T

@ =1 T .(4) TR ararg

~IIZF?TWHWQHQJIT%
%'?nl-aqfﬁa & W IR I

@)
(ii)
(iii) 4
(iv) fexor
W J—
(1) A- (i), B-(i), C-(ii), D-(iv)
(2) A-(i), B~(ii), C-(iii), D-(iv)
(3) A-(ii), B-(iii), C-(iv), D-(i)
(4) A-(iv), B-(iii), C-(ii), D-(i)
J9 HifeRr AfRdAr &1 AW gasd o
. fasiferr fram amsie= § s fomm ek =9
fRyaR fFgT T T 1930 & AWE R
1932 @& WA= 3ra=r ar=aterd § AT forar 3R
o T~
(1) 3511 <41 ey
(2) za9 o)
(3) femsy 2y
) JE1 Y

& Ty o2

(1) SgR = #(2) SR

(3) 3roPR (A) STIPR

| RN ¥ e e @1 o R
afefer favar o, @ ¥ -

(1) o wfify

(@) e g o

[(3) & BRI

AT Wt Rig wfif



27.
Assertion (A) ; The Duty of Comptroller and /27 a;q;f (A): fae Td TETerEl q‘?{&rcﬁ ——

28.

29.

30.

01-#%

Auditor General is not merely to
ensure . the  legality of
expenditure  but also its
propriety.
Reason (R): He has to uphold the Constitution
and the Laws of Parliament in the
field of financial administration.

(1) (A) is false but (R) is true

(2) Both (A) and (R) are true and (R) is the

correct explanation of (A)

(3) (A) is true but (R) is false

(4) Both (A) and (R) are true but (R) is not a
correct explanation of (A)

Which of the following is not true about the

objectives of the Right to Information Act?

(1) To empower citizens
(2) To promote transparency and accountablhty
in the working of the government

- (3) To empower the women and weaker sections

of the society
(4) To make our democracy work for the people
in real sense
According to the ‘Rules of Procedure and
Conduct of Business in. Rajasthan Legislative

Assembly’, which of the following department’s .

estimates do not comes under the control of
Estimates Committee ‘A’?

(1) Public Works Department

(2) Home Department

(3) Finance Department

(4) Education Department

"Who among the following Judges of Rajasthan

High Court has held the office of State Mlmster
in Government of Rajasthan? .

(1) Justice Suraj Narayan Didwania

(2) ] ustice Farooq Hassan

(3) Justice Mohammad Yamin

(4) Justice Yad Ram Meena

aﬁ@ﬁ‘l@ﬂ»‘ﬁ%'
W(R):Bﬁﬁ%ﬁuuwﬂﬂfﬁmﬁw
2|

“)(A)W%aﬁﬁ(k)ﬂé’r%\l

(2 (A) sk (R) SF @& § T (R) (A) &
e AT 8

(3)(A)ﬂ€r%@rﬁﬂ(mm%

ﬁ(A)aﬁv(R)aﬁw‘a%ﬁﬁ(R) (A) B

W& e e B
3B o B s W%Gﬁ?@f%ﬂwﬁ
ﬁwf‘a@ﬁff#aﬁwwé’rﬁﬁ%‘?
Y(1) ArReT BY T B
A weR @ wEewr § IRERE T
STREAE BT g™

5 (3) TS 1 Aferel T HASIR qESl (T) B
[T B B oIy BTH BT
' (8) TR edE B AT AT I IE AR
¥ o @ forg d BN
29, rorere e @ ufthar @GRl HdTe
weeh_frml ?ﬁ?ﬂwﬁﬂﬁﬁﬁ@aﬁqﬁ
AT @ WePE, WEhed A @ P
o 78 87,
oy wrdstE fmfor fwmr
(2) & fmrT W
(3) fary fammr &
(4) R fr©
i WEHR § IowAA & g W
(1) SReH IR TRrvr Srearfra
(ﬂﬁﬁ?ﬂmw
(ﬂmtﬁtﬂ:ﬁw
(ﬂ-ﬁ!ﬁ%"ﬂm'm
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Under Article 103 of the Constitution of India,

the

31.

the President shall obtain the opinion of which

of the following authority before giving any

decision on any question regarding
disqualification of the members of the Lok

Sabha?

(1) Supreme Court

(2) Election Commission

(3) Attorney General

(4) Speaker of the Lok Sabha

32. Which of the following Chief Ministers of

Rajasthan have not been the member of Lok

Sabha?

(A) Hari Dev Joshi

(B) Bhairon Singh Shekhawat

(C) Tika Ram Paliwal

(D) Barkatullah Khan

Correct answer is -

(1) Only (B), (C)and (D)

() (A), (B), (C) and (D)

(3) Only (A), (B) and (D)

(4) Only (A) and (B)

33. The case of Vishakha and others Vs. State of

Rajasthan and others is related to -

- (1) Maternity leave in respect of working women

(2) Transfer policy for women

(3) Prevention of the practice of dowry prevalent
in the society,

(4) Prevention of sexual harassment of women at
work place

34. Which feature of Chief Minister Chiranjeevi

Health Insurance Scheme is incorrect?

(1) Under the scheme for different ailments 1576
types of packages and procedures will be
available. 7

(2) Under this scheme an insurance cover of
¥ 4.50 Lakhs is payable per year per family
for serious ailments.

(3) The disease for which a patient is admitted to
a hospital, 5 days prior to that and 10 days
after the’ discharge from the hospital all
expenditure on investigation, medicines and
consultation fee in the hospital will be
included in the package.

(4) It was started on May 1, 2021

01-#%

}(Wa%w&fquﬁaﬁ%@alm

ATHTT T} &) PRl
T R B fofg 2w 9
fraasr =g or?

kil
kSl

(1) = T
oA2) Frafem s

+(3) FETgTIarel

+(4) SATHTTETE ~

}/wm?ﬁﬁrwﬁﬁwﬁmﬁﬁaﬂﬁm

33.

page 9 of 32

A 9B Foara 1 W, 2021 § B S

T B AW T8I X8 &7
(A) &Reg e ~

(B) Y RiE S
(C) TBRM Ureliare

(D) TEIETE WM
e SN & —

,u{zﬁaa (B), (C) 3R (D)

() @), (B), (C) 3R (D)

(3) Faet @), (B) 3R (D)

(4) BaeT @) AR (B)

foreTRaT @ 31§ RISTRRIA Y T 3179 YHaHT

HefeT & —

(1) BT Afgenell & A FHTe |

(2) Afgetmat o1 qaTger Afy |

(ﬂgwﬁwa‘éﬁmaﬁwaﬂwexﬂ

@) prdwe w® ARl & 4 sded @
B Y

faremar Terg 27

AN AT B i Afts faRal @ 1576

PR B Yo vd griiord Suae £
D AN B oferfa wek dREl &g
4.50 g T ) 3 B G197 xR gfoay ufey
uRaR 37
) o R 4y & forg arerarer ¥ it g
% 99U 5 R yger vd Reawt 3 10 R
9% % IR § F) TS oira, qarsdr 9
R [ob &1 @@ Vew B AT ff
Hftaferg &




35

Wﬁmﬁﬁﬁq-@r

ﬂ@umﬁiﬁ
BT ST T B

Gfqem gees

' Wﬁfﬂﬁlﬂﬁ#amﬁtﬂﬁ?ﬁﬂ‘rﬁﬁiﬁ?&mm?

(1) 9gat @i e SifrfFas
(2) 994t wfder deeA afrfrm

(3) 974t wifqerm e GTW

(4) 1004t wfaema e ST

LSRR S ST 3‘{TIﬁ1T a,qrr«‘f EI'TPﬁ 1 aﬁ‘:ﬁ
Hﬁ%ﬁ? GGl Bi— . o

(1) Ireafy a% e
(2) R ol @ TqHET
(3) IrguTet ?B HHET = . :;:-
(4) e wfea & a0 M

ST @ aE IS TR
(1) vy AT | Afd
(ﬁg%mnﬁﬁéwwwaw
(3)§@eﬁammw®aﬂfr
(ﬁwwmaﬁ

ﬁwﬁr@aﬁﬁﬁ?ﬂﬁzﬁaw Wﬂﬁaﬂw

e @) o AT A R sﬂﬁﬁ?ﬁveﬁaﬁ

W%a‘rmﬁwaﬂﬁ% ARG ¥ a9
mmﬁwewm
-,wl%ﬁé‘fmtqﬁ%?.
C (1) S XS TS

-(ﬂmé’rma@w

. (3) WETHT MY b

~.35- Which Constitutional Amendment. Act dealing
with . National  Judicial /Appointments
0mm1ssu‘_>n was declared unconstitutional by
the Constitution Bench of the Supreme Court?
(1) 98™ Constitutional Amendment Act
(2) 99" Constitutional Afmendment Act
(3) 97 Constitutional Amendment Act
(4) 100" Constitutional Amendment Act
36.-kRa_]asthan Public Service Commission presents 36.
~its annual report to - g
(1) The Pres1dent of India
(2) :Chairperson of the Vidhan Sabha
(3) The Governor of Rajasthan
(4) Chief Secretory
- 37. Who among the following is ehglble to be ~ 37:
appointed as the Chairperson | of Ra_]asthan State .
- Human Rightsi( ‘Commission? _
(1) Prom1nentSoc1al Activist ;
(2) Director General of Police Level Ofﬁcer
(3) Chief Secretary Level Officer .-
. (9 Chief Justice of- ‘High Couit . o
38. Which one of the:, followmg said, “A 38
Constitution, like a machme is a lifeless. thlng
It acquires life because of the men who control
it and India neéds today nothing more than a.set
of honest men who will have the interest of the
country before them”? :
(1) Dr. Rajendra Prasad
(2) Dr. B. R. Ambedkar
(3) Mahatma Gandhi .
(4) Jawahar Lal Nehru - v
39. Which one of the following is not basic element -39,
of the citizen charter? - -
(1) Promotion of various. methods to’ get beneﬁt
" from the services available ;
(2)- Provision for the 1nspect10n of the agency s
work - :
~ (3) Description of serv1ces bemg pr0v1ded by_ E
-department or the agency _
.(4) To expect any. public record -,
40. The ‘correct - sequence of Chlef Justlce of -, 40
Supreme Court of Indiais - . . -
(1) HL. Dattu, T. S. Thakur, Jagdlsh Smgh
' Khehar
5 (2) B.P. Smha,PB Gajendragadkar SR Das _
3) Ranjan Gogoi, N.V. Raman, Decpak Mishra
@K G. Balakrishanan, - S ‘H." Kapadia,
H.L. Dattu
01-# Page 10 of 32

1W$WW$

(4) AR A T,

ﬁmﬁ{mﬁﬁﬁmﬂﬁzﬁmwa%aaaﬁ

¥ o1 gdfera T8l 87

(UWGﬁEﬁI?lWW%ﬁmﬁﬁt«—vrﬁrm
BY TR HAT _

2) aftreor & BT @ FerT 1 wraeE

-(S)Wawatﬁwwmmaﬁm@

- Haratf T fagRor -
(@ﬁﬁraﬁasaﬁﬁ@ﬁsmm

TS PH B — ﬂ@ g =

U)Rfﬂwﬁﬁ‘&w ST, w@wﬁe@m

(Z)Eﬁﬁﬁlatﬁret‘rﬂtﬁfﬁem TR, T
(3) T TS, @awmﬁm

(4)2% S e, g, W@m




41. Gurumukh Nihal Singh was appointed as the A1. Toq@ Tl Rig $1 TSN &1 gorm rogardt

42.

first Governor of Rajasthan on -
(1) 2nd November, 1956

(2) 26t October, 1956

(3) 1%t November, 1956

(4) 25t October, 1956

Identify the incorrect feature of the recently

declared ‘UDAN’ schefne of the Government of

Rajasthan -

(1) The scheme aims to make women aware about
better health and individual physical hygiene

(2) For effective implementation of the scheme 2
Brand Ambassadors at state level and 1 at
district level will be engaged

(3) Under this scheme all women in the state will
get free sanitary napkins from 19" November,
2021

(4) The scheme will come into operation from 19"
November, 2021

» Match list-I with list-II and identify the correct

answer from the code given below -
List-I ,
Constituent Assembly Committee
(A) Fundamental Rights
(B) Steering
(C) Union powers
(D) Drafting
- List-II
Chairman
(i) B.R. Ambedkar
(ii) Jawahar Lal Nehru

- (i) K. M. Munshi .

(iv) Sardar Patel
Code -

(1) A-(ii), B-(iii), C-(v), D-(1)
(2) A-(ii), B-(iv), C-(iii), D-(1)
(3) A-(iii), B-(iv), C-(ii), D-(1)
(4) A-(iv), B-(iii), C-(ii), D-(1)

Identify the correct pair mentioning the

Directive Principles of State Policy in the

Constitution of India - .

(1) Equal justice and free legal aid - Article 42

(2) That there is equal pay for equal work for
both men and women — Article 39

(3) Organisation of village Panchayal =

Article 41

(4) Organisation of agriculture and animal

husbandry — Article 43

(B) BH

g foam war e —
(1) 2 =R, 1956 B
(2) 26 IFCER, 1956 B

A3) 1 g, 1956 &Y

(4) 25 IR, 1956 B

42, IR WXHR RT3 B H, 1ifdd Se

Ao 1 Tera fadiwar Rifsa Sifdg —

(1) 9 OFAT &1 Sl Higamslt 7 I8N
e &R afTd IRING Wwwdr & ufd
SIRTG& g9 &

(2) FrorT @ gl fraraaE @ forg g WK

® B AR fren TR W U6 g TREsY
3) g Ao @ sfafd yRW B Wl ARemsi
&1 19 FawR, 2021 | Fe Fufdd Fges
freil
(4) T TS 19 FaRR, 2021 9 o1 &0

A8, g1 1 -1 @ P i ok A R
g me § | EE SR BT AT DY —

-1

W A aRR

(A) T SO
eIk

(C) |g wfdd

(D) Uy

() A-(ii), B~(iii), C-(iv), D-(0)

- (2) A-(ii), B-(iv), C-(iii), D-(1)

(3) A-(iii), B-(iv), C-(ii), D-(i)
W A-(iv), B-(iii), C-(ii), D-(i)

. ARG & Wi affq A Fwe @ o
T

gHferd I gEg —
(ﬂWWaﬁqﬁ:g%ﬁ@ﬁW*
T 42
(Z)Weﬂvﬁaﬁaﬁwwmﬁ'm
- W 9T 8 — IgwE 39
(3) I YerGt w1 w@wed — dgwe 4l = ]
@) BT &R Teprer 1 w@TeT - FFVE B

;

01-#%
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45. Which of the fol]owmg statement

46

about

resolution adopted by 2 State Legislative
Assembly under Article 169 of the Constitution
of India for the abolition of the State Legislative

Counc1] is correct? -

(1) It does not impose an obligation on the - -

Governor to reserve resolution for the

consideration of the President. » K

(2) It does impose an obligation on the Union

Government to take action for initiating
legislation in Parliament. ‘
(3) It does impose an obli gation on the Governor

45.Wmﬁm_$ S ——

ORI T T & argeda 169 & afefd

'%Wzﬁaﬁﬁﬁmﬁﬁﬁﬁm'

to reserve resolutlon for the conmdcrauon of ,'

the Presment

(4) It does not impose an obli gatlon on the Um@n |
Government to take action: for 1mt1at1ng-

legislative in Parhament

- According to the provisions of the Rajasthan
Municipal Act, 2009, maximum number of
persons that can be nominated by the: State :

_ Government in Municipal Councﬂ 18 -

47.

16
(3) 10

(2) 8ol
-(4)12_. L

Consider the following statcments regardmg-

State Election Comnussmn Rajasthan -

') "The State Election COIIlIIllSSlOIl RaJasthan‘ ’ __: .

was constifuted in Dccember 1994

(i) It has a Secretary who is also the- Chlef‘ ,

Electoral Officer for the state
Code :
(1) Only (i) is correct
(2) Only (ii) is correct

(3) Both (i) and (11) are correct .

(4) Neither (i) nor (ii) is correct -

)_l-***

46.

Eﬁaﬂ'ﬁwmwquﬁmﬁ

FO W &
(1)mmﬁmmﬁﬁﬂﬁm
gﬁ?ﬁwzﬁrwﬁffﬁwﬁ

amfél?ram :
(z)ﬁwwwwﬂﬁﬁm%ﬁﬁ

aﬁmﬁﬁf@rﬁﬂ‘?ﬂ%@mﬁﬁl

T&mwwmaqﬁ?’rﬁﬁm%ﬁia‘é

W@rwﬁmﬁﬁaﬁ?@mﬁﬁl

1&%%&@@3‘-%%?@

m%ﬁaagwﬁﬁ@ﬁﬂ’m%g
PrfaTEl B |-

Ww%msﬂﬁm 20092!%W1=h

amﬁﬁﬁmﬁwﬁﬁwﬁﬁeﬁ?&mm

&7 -
Mé - ' (2) 8
@10 . #12

-wﬁaﬁaﬁmwﬁw@a

ﬁwﬁiﬁmﬁ‘rwﬁawaﬁm_
() woa Fafes sm ISR T T
fewmm, 1994 ¥ gamy .

) T T R B # o <o @1 @

,Pl{a‘w‘cla(u)‘ﬂ‘é‘r%

"'i'a-i\a"” KLEED 'Q" A
we |

(53

(1)?5216 @) ?I::;?r %

A T
A B s e i

BEDM

(3) (1)3TT§’ (11)3ﬁ[ el %‘ _
(@HFﬁ(l)@?‘ﬂ%’f(ﬂ)ﬂﬁ%

E?.!'

| Page 12 0f32 .




48. Which of the following statements are correct

about Lokayukta in Rajasthan?
(A) He is appointed by the Governor and is
responsible to the Legislative Assembly.

(B) His jurisdiction spans Over Ministers,
members of State Legislative Assembly and

higher Civil Servants. ‘
(C) He considers the cases of corruption and

mal-administration.
(D) His job is confined to investigate allegations

and not grievances.
Code :
(1) (A) and (O)
(2) (A), (B) and (C)
3) (A)and(D)
(4) (A), (B), (C) and (D)

49. Which Section of the Rajasthan Panchayati Raj-

Act, 1994 has been amended to replace the
expression ‘Gram Vikas Adhikari’ in place of
~‘Gram Sevak’? :

(1) 88 (2) 89

(3) 91 (4)-90

50. In which of the following year, for the first time
Rajasthan Administrative Service Officers were
posted as District Collector? .

(1) 2009 (2) 2013
(3) 2018 (4) 2021

51. According to 2011 census, the districts having
highest rural and urban sex ratio in Rajasthan
are - gl

Rural Sex Ratio - Urban Sex Ratio
(A) Rajsamand - Banswara _
(B) Dungarpur - Tonk °

(C) Pali - Churu

(D) Jalore - Nagaur

(D 2 A
(3 B @) C

52. Which among . the following is correctly
matched? _
(1) Mica — Talcher
(2) Manganese — Bailadila
. (3) Iron - Koderma
(4) Bauxite — Lohardaga

01-&

48.

49.

o W A @ weg H Frefafa F @

P A HAT TE 87

(A) T8 IoauTel g1 e Td R @
yfey STRERY BT © |

(B) ST 8GR |, Y50 R @
Hewi Td 9o olld Aadl b el 2|

(C) 98 ¥R Td H-IRMET & AWl W
R v B |

(D) SaFT B IRl B W T 7 5

Rrpraal & |

R

(1) (A) T (O

(2) (A), (B) Td (C)

(3) (A) T@ (D)

4 (A), (B), (C) Td (D)

ST U WS AR, 1994 @1 {6

R BT FART B U AD D W W UH

T 87 ’

(1) 88

3) 91

(2) 89
(4) 90

" T Folger @ ©U A gewuAr FEiea # |

51.

52.

g af @ TS A7

M2000 - A2 2013

(3) 2018 - (4) 2021

2011 B TEIVET & TER, ORI B DI

g forett # aior ek T feiuTa wEits
? - |

T feiue — T feirgad

TS — diarel Y

(B) IR ~ T

(C) el — T

(D) VTR — AR +

D LZ)/A

@B . @c

Fret 3 W e W) e &7

(1) 3B — TreRR .
@) T — Serdier Dee) ML
(3)ahm_aﬁmw4’;.g%<"“. i
@) SfeRiTge — Seve 2
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53. Match list- I with list-1I and choose the conec,t
answer from the code given below -

List-1 (Landform)
(A) Aconcagua

(B) Meseta
(C) Serengeti Plains
(D) Gibson desert

List—II (Continent)

(i) Australia

(i) Africa

(iii) Europe

(1v) South America
Code -

(1) A-(iv), B-(ii), C-(iii), D-(i)
(2) A-(iii), B-(ii), C-(iv), D-(i)
(3) A-(ii), B-(iv), C-(i), D-(iii)
(4) A-~(iv), B-(iii), C-(ii), D-(i)
Match list-I with list-Il and select the correct
answer using code given below - -
List—I (Tourist Centre)
(A) Lalgarh
(B) Tripura Sundari
(C) Gagron Fort
(D) Nakoda
List-II (Location)
(1) Jhalawar
(11) Barmer
(iii) Bikaner
(iv) Banswara
- Code -
(1) A-(iii), B-(iv), C-(1), D-(ii)
(2) A-(iv), B-(iii), C-(ii), D-(i)
(3) A-(iii), B-(ii), C-(i), D-(iv)
(4) A-(i1), B-(1), C-(iv), D-(iii)
The following characteristics are of wh1ch river?
- Originates from the Aravalis near the Fort of

Kumbhalgarh.
- Flows through the Mewar Plain.

- Bedach, Kothari and Morel are its tributaries,
(1) Chambal (2) Mahi
(3) Banas (4) Luni

55.

56. Which among the following is situated on North-
South corridor?
(1) Lucknow (2) Kanpur
(3) Kota (4) Agra

5@’

w

/54.

g6,

—1 & A1 B P B A
ﬁﬁ? Y HE H W TE IR g - -
mﬂ_ 1 (Reremmgpay)
(A) UepIcpTLT
(B) ®¥ET
(C) A HEH
(D) fireds ST \
11 (T
@) amam
¢ (i) %ﬂ;ﬁr
(m)
(iv) gferof aMRa®T -
W s
(1) A- (iv), B-(ii), C-(iii), D-(i)
(2) A-(iii), B-(ii), C-(iv), D-(1)
(3) A-(ii), B-(iv), C-(1), D-(iii)
(AT A~(iv), Bx(iii), C-(ii), D-(i) -
= —1 & gHfera BT e
gi\f Cal aug?ﬁ I fod g # A B —
-1 (s wie) '
(A) ©TefiTe
(B) PR g1
(C) TR fden
(D) TSI '
HA-II (Rerfcy)
EEIGICIS]
(i1) e
(111) 'Cﬁ‘d?lﬁ'\'
(iv) sTaTST

(1) AL(Gi), B-(iv), C-(l), B-ii)

(2) A-(iv), B-(iii), C-(ii), D-(i)

(3) A-(iii), B-(ii), C-(i), D-(iv)

(4) A-(ii), B-(i), C-(iv), D-(iii)

ferfeiae faRvamd fov ) oy &2

— TP ST FAIETS fhat & Fwe s
TR W R

—Wﬁmiﬁﬁa’ﬂ?ﬁmﬁﬂﬁﬁ%l

— 999, PIONI T AN S WEIgT Al ¢

() =g (2) A1y
~(3) T (@) FiTa =
fﬁwﬁﬁaﬁaw—ﬁmﬂﬁuﬁin o &7
) sE=s; 2 dFgR
(3) PreT 4 (@) T4 >

O =%

Paaa 14 Af 22



AT o= 3 1 @ A wEr gAferd 87
(A) HS-HI-UTAd — BHoAUR -
(B) deorarst — AT Td o
(C) WRATST — Tawed

57. Which among the fol]owmg is correctly

matched?
(A) Mando-ki-pal — Feldspar
(B) Talwara — Lead and Zinc

(C) Kherwara — Asbestos (D) TG — 3
(D) Rishabhdev — Mica
(A" C (M A @c
(3 B (4 D (3) B 4 D
58. The second highest percentage of Scheduled /5ﬂ/ XTSRRI H TR mmmﬁﬁm
tribe population in Rajasthan is found in w©e R mﬁi}zﬁ uferera 2 (2011) -
011) - .
(1) Dausa District (1) S forer # r%
(2) Pratapgarh District (2) yamoe forer #
(3) Banswara District (3) gigarsT el #
(4) Dungarpur District Y $RE o d .
59. In which among the following dlstrlct sub- /59 for=r & 5t ﬁﬂ?{ H, Y-8 Udd 9 UIY
tropical hilly forests are found? o1,
(1) Sirohi - (2) Thalawar - ) R of 2) qua"[m:c_;
(3) Banswara (4) Udaipur @) qiaarer (4) SEAR
60. Match list- with list-Il and choose the correct. ~ 80. J#—I &I FA-11 R Hfrg aen A
answer from the code given below 2 ’ ﬁ?ﬁ Qe H A T SR Gy —
List-I (River) (_a'qj)
(A) Godavari " (A).
(B) Mahanadi (B) HEMEl
(C) Damodar " (C) TR
(D) Kaveri (D) BT
List-IT (Tnbutary) ' 11 (HErD ﬂé’f)
(i) Bhavani G "aE
(i) Penganga (i), T -
(ii1) Seonath RN T REICEI]
' (iv) Barakar (v) IR
Code - FT -

(1) A-(iii), B-(i), C-(ii), D-(iv)
(2) A-(iv), B-(i), C-(i), D-(iii)
(3) A-(ii), B-(ii), C-(iv), D-(i)
(4) A-(i), B-(ii), C-(iv), D-(ii)

(1) A<(iii), B-(i), C-(ii), D-(iv)

2) A (iv); B-(ii), C- (i), D~(iii)
(3) A-(ii), B-(iii), C- (iv), D-(i)
(4)"A-(i), B (i), C-(iv), D-(iii)

61. As per Koeppen’s climate classification, which ~61- P B STofary aifever & oER e ¥ A
amcfng the flt))ﬁowmg are. correctly matched‘? FH A g8l Eq-ﬁ;rd ¥
(A) Cwg - Bharatpur . ' (A)Cwg -
(B) Bwhw - Barmer (B). g/w Hl@'l‘-r\'
(C) Bshw - Ganganagar (C) Bsh
(D) Aw - Dungarpur (D) Aw; |
(1) (B) and (C) | (1).(B,) d (©) :
3 (A), (C) and (D) @A), (€)% D) RSN
(3) (B), (C) and (D) ) (B), (C) wd (D) f fooml
@ (A) and (D) @) (A) W@ (D) | = 3
3 e 15 of 32 T
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62. Gogelav Conservation Reserve is situated in }i Mg Oxfara &3 e e 3§ Reg 22

which district? :
(1) Nagaur (2) Jalore (1) FriR (i) w
(3) Pali (4) Churu / (3) greit LA /-
63. ‘Green Energy Corridor’ will pass through < 63. fiq t=off R owe™ & Fr=fafad 3
which of the following districts of Rajasthan? A 5 et & gerem?
(1) Udaipur, Bhilwara, Jaipur (1) SgagR, Hrerarst, SR
(2) Kota, Ajmer, Jodhpur (2) PreT, BTSN, YR
(3) Jodhpur, Jaipur, Alwar /(3) SR, SR, R
(4) Ajmer, Chittorgarh, Bikaner (4) s, RriYeTg, FPTER
84. Match list-1 with list-l and choose the correct 64 gi—1 Td GAI—11 FY Gaferd BT TIT A
answer from the code given below - f&d 77 e # & wE S g~
List-I (District) A1 (Rore)
(A) Udaipur ‘ (A) m
(B) Nagaur ' (B) MR |
(C) Bhilwara (C) “Hrerarer (}
(D) Kota ' ‘ (D) BreT
List—II (Main Industry) TR <)
(1) White cement _ G) woe due

(1) Chemical

(iii) Textile (it) - T

(iv) Lead and Zinc (i) I W

Code - | 2;2 fﬂ:ﬂ Uq ST

(1) A-(i), B-(ii), C-(iv), D-(iii) (1) A-(i), B-(i), C-Giy), D-(i)

(#) A-(iif), B-(i), C-(3), D-Gv) (2) Ax(iii), B-(i), C-(ii), D-(1v)

) A-(a), B-D), (0, DY) (3) A-Giv), B~(ii), C~(i), D-(ii)

@ a-Gv), B C-Gn), D-@) () A-Giv), B-(3), C~(ii), D-~(ii)

-65. Which one of the following is not correctly  65. f/= # & &9 &1 U HEI Al el &¢

matched? |

(1) Anshan — Iron and Steel ' _ (1) 39 — orET Td g

~ (2) Yokohama — Ship Building () ArerEE - SedE et
(3) Detroit — Automobile (3) g — sieramer <
(4) Gornaya Shoria — Cotton Textile (8) TR IR — ‘\Fﬁ[ S
66. Which among the following are parts of Thar W 66. =1 # W IR WO B HRT §?

desert? (A) TreaTe TRY~

(A) Godwar Tract _

(B) Shekhawati Tract o ‘ (B) NICIEIC m v

(C) Banas Plain - (C) 991 T AgT +

(D) Ghaggar Plain -~ . | (D) TR &7 dap v .
(1) (A), (B) and (D) - (1) (A), (B) % (D) g
(2) (A), (C) and (D) (2) (A), (C) Td (D) =
(3) (B) and (C) | @ (B) T (©) | 2
(4) (A) and (B) - @ (A) T (B) | =
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87- In which year Rajasth

68.

70.

.

01-%

was declared? .
(1) 2019 (2) 2017
3) 2015 (4) 2018

- Which among the following is not correctly
matched?

Lake - Country
(A) Balkhash — Kazakhstan
(B) Titicaca — Bolivia-Peru
(C) Erie — USA-Canada
(D) Baikal — Ukraine
MmA (2 B
) C 4D
Match list-I with list-II and choose the correct
answer from the code given below -
List-I (Site)
(A) Pavagada
(B) Tattapani
(C) Muppandal
(D) Kakrapar
List-II (Energy)
(i) Wind
(ii) Solar
(iii) Geo-thermal
(iv) Atomic
Code -
(1) A-(ii), B-(iii), C-@), D-(iv)
(2) A-(3), B-(ii), C-(iii), D-(iv)
(3) A-(iii), B-(ii), C-(i), D-(iv)
4) A-(i), B~(iii), C-(ii), D-(iv)
Doda Betta Peak is situated in -
(1) The Vindhya Range
(2) The Satpura Range
(3) The Anaimalai Hills
(4) The Nilgiri Hills
What is not included in the Index of Industrial
Production (IIP), which.is the measure of
Industrial activities in the Indian Economy?
(1) Electricity
(2) Mining
(3) Gas and water supply
(4) Manufacturing

an Solar Energy Policy/ 67. B\ 3 % H

O Wi
o St Ry g 2
>,.(1) 2019 (2) 2017
& ](;:;0; 5@: @ 2018
- H W BT gifer 8 8
Eil A
(A) TR (A1) — FoTRAET
B) fReErmaT — Sreifarie
(©) 39 — gTEY. T
(D) 9FTA — @
(1) A (2B
) C 4D .
89. -1 31 qA-11 ¥ Gfera B Ter 4y
fedr 17 e # ¥ W o= gfw -
- (Rar)
(A) 9arTg
(B) g™
(©) goea
(D) HIHIUR
(i) uad
(i) ¥R
(i) amdr
 (iv) WA (37fOqe)
& ~ '

() A, B-(iii), C-(i), D-(iv)

- (2) A-(), B-(i), C-(ii), D-(iv)
- 3) A(iii), B-(ii), C-(i), D-(iv)

(4). A-(1), B-(iii); C(if), D-(iv)
/7{ SIe-9gT A Rer & —
() feamee Sofy &«

.

(2) wager Sof § +
(3) 3rTHeNE iy
(@) T gy W

w
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72. The Net National Product at Market Price

73.

74.
- funding in National Mission on Agriculture

75.

(N.N.P. MP) is - |
(1) Gross National Product at Market Price —

Transfer Payments
(2) Gross National Product at Market Price —

Subsidies .

(3) Gross National Product at Market Price — Net
Income from abroad

(4) Gross National Product at Market Price —
Depreciation

What was the rank of India in the Ease of Doing

Business Index for 2019, as per the Doing

Business Report (DBR), 2020?

(1) 63 (2) 146

(3) 96 (@) 77

What is the share of Rajasthan Government in

Extension and Technology?

(1) 50 Percent (2) 40 Percent

(3) 20 Percent (4) 30 Percent

In which of the following budget, the Railway

 Budget was merged with the Union Budget in

78.

India?

(1) Budget 2018 — 19

(2) Budget 2017 - 18

(3) Budget 2016 — 17

(4) Budget 2019 - 20

Atal Bhu — Jal scheme was launched on 1 April,
2020 by Government of India, with assistance
of — ‘

(1) Asian Development Bank

(2) World Bank SR '

(3) Inter-American Development Bank

(4) European Bank . for Reconstruction and
- Development

Which of the following district is not a part of _77-

‘Desert Triangle’ in Rajasthan?

(1) Jaisalmer (2) Jodhpur

(3) Bikaner (4) Barmer

When was the “PM Kisan Maandhan Yojana”
launched for the purpose. of pension to small and

" marginal farmers?

01-#%

(1) 25 August, 2019 (2) 26 Yanuary, 2020
(3) 15 August, 2020  (4) 12 September, 2019

72.

73.

74.

75.

/78.

JgaE ® —
s ITe

RN SRR M c- R
M IR gei w P

ERITRYT Y= .
(z)mwmwwm”‘g;
(3) TR s qr WP T ST

(4) qrer et TR e WA Send AT

fard 2020 ® IR, & 3w

e CaR:agksll

7 e gEeie 2019 H, WRd

XA YET?
(2) 146

frg § ¥ @19 Q goic |, R ¥ e 9oie @
P gore § A f&ar @

(1) It 2018 - 19

(2) g5ie 2017 - 18

(3) go1e 2016 - 17

(4) g51e 2019 - 20

- 1 3, 2020 BT HRT WRBR gRT TH BT T8

el Y-olel WA H WISl SUSEl Hear

qrell TR ® —

(1) ofRrng fRer %

(2) fawg d& .

@) a1 RSP g I |

@) gafT 9 R & Wi I

et # & S Rrar oo 3 79

BT &7 9rT g 22

(1) SR (2) Serg

(3) Sipmv  @rareR

g R WM fBaE By dew @ s 9

%mm 6™ o e Ao @ urE @
?.

(1) 25 37, 2019

3) 15 AT, 2020

(2) 26 FaR, 5020
W12 gy, 2019
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7% In case of critical illness health insurance
covered per family per year under the scheme
Ayushman Bharat Mahatma Gandhi Rajasthan
Swasthaya Bima Yojana is —

(1) ¥4.50 Lakhs (2) T 3.50 Lakhs

() ¥ 3 Lakhs (4) T 4.00 Lakhs

What is the proposed plan expenditure in
percentage of total expenditure on electricity ip
Rajasthan’s budget 2021 - 229

(1) 52.199, (2) 12.05%

() 7.429 (4) 14.32%

As per the advance estimates, per capita income
of Rajasthan at constant prices (2011 — 12) for
the year 2020 — 21 is —

1) 75,527 (2) ¥72,297
() 97,227 (4) ¥79,722

‘Base year’ in National Income accounting
means — '

(1) The year whose prices are being used to
calculate the nominal GDP

(2) The year whose prices are being used to
calculate the real GDP

(3) The year whose income is being used to
calculate the nominal GDP

(4) The year whose income is being used to
calculate the real GDP

What is the rank of India in the World Happiness
Index 20217 _

(1 121 (2) 141

(3) 129 - @139

For empowerment of women Indira Mahila
Shakti Nidhi was launched on —

(1) 18 December, 2017 -

(2) 18 December, 2019

(3) 18 December, 2016

(4) 18 December, 2018 _
According to census — 2011, what was the work
participation rate in India and Rajasthan
respectively? |
(1) 39.8% and 36.4%

(2) 43.6% and 41.8%

(3) 42.4% and 41 8%

(4) 39.8% and 43,6%

80.

81.

82.

85.

AT & gt R i
e S Rae S @ Sy ey
(M 450emg 7 (2) 3.50 o 7

A3 3 T (4) 4.00 g 7

2021 -22F oo — qore ¥ W

mmmﬁammmwgmgﬁgq"
(1) 52.19% 42512.05%

- (3) 7.42% (4) 14.32%

ﬁ(aﬁw\ﬂ'ﬂﬁ‘rzﬁ AR, 2020 - 21 ¥ Reg
aﬁnaﬁq?(zou—lz)vmwmaﬁqfaamﬁ

I B -
(1)75,527% 2722973
3972277 4) 797222

B2 P o e ¥ AR a¥ P et 3

M af & Pudi & sugy Wifte
Sft. S . B ToF B forg Rea oy ¥
SR o A e @ v afe
Gﬁ.%ﬁ.ﬂ.aﬁmmiﬁm'ﬁv‘mw%l
(3) fora DI 31T BT IUANT s o, &
DI M B fow fbar e 2
@R a8 @ o B ST gt
St S 0 1 T @ Rig e o 2
83. 7o< T gURE 2021 ¥ YR @7 T @
- A
(M 121
(3) 129 (4) 139
“-H%maﬁﬁwm%gmnﬁmm
- Tl &Y e & o -
(1) 18 femR, 2017
(2) 18 fawm R, 2019
3) 18 frwmR, 2016
(4) 18 fawaR, 2018
8. SIRTORT — 2011 & srER, ¥Ra T4 Vore
ﬁmwmﬁmﬂ,mzm:ﬁ@?

(2) 141

(1) 39.8% & 36.49
(2) 43.6% Ta 41,89
() 42.4% w5 41 89
(4) 39.8% w4 43,69

01-#%
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86. Which of the following statement is wrong about O NI # ¥edy g R A @ -\q'-T:."‘-!f / [
* Rashtriya Gram Swaraj Abhiyaan in Rajasthan? H FrefaRag o Q@ P91 B T 27 / ‘
: (1)Wmﬁﬁﬁqﬁﬂw$%ﬁ$ﬁa'ﬂm |
WHR B §ra 60:40 D ITA Wﬁ
Bt 8

(1) The fundmg pattern of this scheme is to be

4
shared petween Central and State Govt. in the

ratio of 60:40.

(2) Slogan ‘of the scheme is ‘Aapni YOJana }273?’1 IS B T-TRT %" Wq“ﬁ “Ch“iFIT aﬂqvﬁ
Aapno Vikas’. : ; REcar: 2

(3) Panchayat Shashaktikaran Abhiyaan was /(3) UG W@ﬁfﬁ'\“’f aqf?mﬁ Lol ﬁ -H
renamed  as ‘Rashtriya ~‘Gram Swaraj TCABY g UH ‘\EEF{ITH W‘:{ @7_5” ™ |
Abhlyaan g 2 S i

(4) Focus of the scheme is on capacity butldmg- @) 3q grorm o ﬁrg‘Tq wﬁ mﬁﬂﬁﬁm I
of eIected representatives and functionaries. < TP & aaar wﬁ?{ qq % K '

87. Which of the following department hasbeen:  87. JroRens ¥ weq fawmr ?I&*’-ﬁ & ‘;l"‘mﬁ fepaTrar
declared as ‘the Nodal Department for the . =g o= & 9 o fawr @Y Ared foam e
effective | lmplementatlon of Sustamab]e. - fear Tqu BRLL o . :
Development Goals in Ra_lasthan" -

(1) Directorate of Industries - (M GEI’FT foreamera
(2) Human Resource Development Depargnent (2) w7 ﬁa’_‘_ﬂ feTT
ol faTT

(3) Planning Department - h j '
.. (4) Chief Minister’s Office pexa| I lS ﬁmﬁf m .
88. ‘Parwan’ multlpurpose 1rr1gat10n project. of  88. IR Y TRET a@%??ﬂ'q f%ﬁ—ﬂ'ﬁ; gRATST
Rajasthan will prov1de 1mgat10n fac111tles in the o= f?ﬂﬂ‘t aﬁ ﬁﬁﬂ‘s‘ ﬁﬁ‘t“cﬂ El‘cﬂ:f HfT —

following districts —": b

(1) Jhalawar and Bhllwara chstnct SRRSTIN- (1) gnaﬁn@' 3ﬁ7<’ "‘?IFWIET ﬁﬂFIT

(2) Tonk, Bundi and Kota dlStI‘lCt | L -4 ) (2) aiﬁ Elffﬁ Gﬂi’ PleT el |
(3) Kota, Bundi and Jhalawar dlStﬂCt ' ; (3) BreT, ﬁ AR BIRICICRNIH
(4) Jhalawar, Baran and[Kotahdlstnct NI (4) 3!17:?11?113 TR 3fR zfﬁa-[ forem

AN

89. Which of the follo'h'f'ng s :responSIble for - 89 ﬁ";ﬂ%ﬂ@ﬁ £ '\e[ P A TR WA
‘implementation of “Ayushman Bharat Pradhan W GTR‘F?I ?ﬂﬁTﬂ C2 ﬁ"TﬂFEITF-r %Tj SRl

Mantri Jan Aarogya YOJana e 1)
(1) Niti Aayog L R o ) :ﬁ{%; amﬁ _ :
(2) Insurance Regu]atory and Develoﬁmeht '
Authority of India - | @ Wﬁﬁwﬁﬁ?ﬁmﬂmﬁw
(3) World Health Orgamsatlon A (3) ﬁﬁ e JTe
(4) National Health Authority SEA S (4) I waTRey FIT@‘IEIWUT

90.. According to Rajasthan budget 2021 = 22 m 90. YroReIF 202
| TOC 2021 22
which district the Fintech Dlgltal Umvers]ty Wlll fefreer £ i Ed aa;; 21,—;{%‘:;

be established? S K _ gﬁ?ﬁ? 5
(1) Jodhpur (2) Jalpur L T N ' R :‘;
o _ : (1) Gﬂa’a‘q wsf o
(3) Sikar (4) Ajmer P ) ' :i;wﬂ'\’ v, E %
e C@amr o F
— v : - _ , ool
O1-%x o ~ Page20of32 - e



91.

Mother — foetus Rh b_lood type_incapability
problems can occur if the mother is ................
and her foetus is...........

(1) Rh negative; Rh positive (1) Rh &; Rh w%?r
(2) Rh negative; Rh negative (2) Rh &, Rh &M
(3) Rh positive; Rh positive (3) Rh wfeds; Rh wfea
(4) Rh positive; Rh negative (4) Rh 9f2d. Rh 89
92. The state flower of Rajasthan is - /QQ/ XTSRRI &1 I o & —
(1) Kachnar (2) Rohida (1) HTR 2) q’ﬂ%@
(3) Nag Kesar (4) Sunflower 3) 9T PR (4) JrogE
93. Which of the following vitamins are fat soluble?  93. o= & 9 B9 @ e o # gemdha #
(1) Bizand D (2) Aand C (1) B;, TG D 2 ATG C
() Aand D (4) Cand E B) AT D @ Cud E
94. Kadaknath is a breed of - M. Femey U e ¥ -
(1) Goat (2) Buffalo )T R (2) ¥ P
(3) Fowl (4) Bull (3) it (4) |t &
9. In Stethoscope, the sound of the patient’s  95. weiwpiy & < @ e F1 gD B el
heartbeat reaches the doctor’s ears by - SfdeN & FHI % Ugadr & —
(1) Multiple diffraction of sound (1) & & g fagd= gw
(2) Multiple refraction of sound (2) et & ¥ IYad gRI
(3) Multiple reflection of sound (@) e B 9§ WG ERI
(4) Polarisation of sound (4) ey & gav gRT -
9. With a 16:9 picture aspect ratio, display 96 16:9 & T (AR smeae
resolution 1080p means — ) B A, yed e (e Reifeqee)
1080p &7 31f & —
(1) 1080 x 1080 pixcls ‘(1) 1080 x 1080 ™
(2) 1920 x 1080 pixels (2) 1920 x 1080 e
(3) 3840 x 1080 pixels (3) 3840 x 1080 fUrawiew
.(4) 720 x 1080 pixels (4) 720 x 1080 ﬁmﬁw
97. Compressed Natural Gas (CNG) is mainly - 7. %t W e (@ Sh) TEI: B —
(1) Propane (2) Ethane (1) gros (2 v
(3) Methane (4) Butane (3) A . @A
98. How much hias the global average temperature 9B rweh wdl § aﬁa‘cﬁ Gﬁ'ﬂ'ﬁ A9 #H fobat gfg
risen in the last century? ER
(1) 24°F (2)34°F (1) 2.4°F @ 34°F
(3 3.0°F (4) 1.8°F 3)3.0°F (4) 1.8°F
99. According to India State of Forest Report 2019, ﬁ"ﬂ?ﬁ a1 Refy RaE 2019 B IR, e LR
in which one of the following district, very dense frr v forer & g °HT W gAB
forest area is minimum? e?
(1) Jaipur (2) Alwar (1) SR+ (2) e
(3) Jodhpur (4) Jaisalmer ) W Y- @) SRyere ¥
01-#% page 21 of 32
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101.

102,

103.

Full form of MOEMS is - |

(1) Micro-Optic Electronic Media Source

(2) Micro-Opto-Electro-Mechanical-Systems
(3) Mega Operations Electronic Media Software
(4) Micro-Optic Electro-Mechanical Source

(;):cjhhna(;::fg; ajas (2) Todhpur ) TS H (2) Sirrgr -q ,"',;-"l
(3) Jaipur (4) Ajmer (3) srrgR @ iﬁr“ﬂ 3, /
Solar phservatory in Rajasthan is situated at - /101. Toree 3§ @R AergITelT el Rerg -%? ;,
(1) Ajmer (2) Jaipur (1) 3T’ ¥ L NE L (2) STAYR o .

(3) Jodhpur (4) Udaipur ) \_rﬁﬂ'gq ¥ | (4) IR 7
Malignant malaria is caused by - 03, = (AferTic) FafRkar BT & —

(1) Plasmodium vivax (1) wrEifegs fAded 9

(2) Plagmodium ovale /(5) e e |

(3) Plasmodium falciparum 3) wrEfsay SiiRA |

(3) Plasmodium malariae 4) T TR &

103. MOEMS &7 iU & —
(1) rEmpI—aifcs gomagi® ’ﬂm bl
(2) g graG I~ HD TPt

Fpfrra—Rrerg

100. The State’ Remote Sensing Appllcatlon Centre 100, ﬁgﬂ;{ a,ﬁ-\y eI R & gty PR 21@/ k

(3) 7 sifover=a goagiie AT WredmR

(4) Wrgm—sifftes ToaE—SiaDd A

104. The motto of Defence Research and M. e arRiEE U9 G ST @ 3R T
Development Organisation is - - ' g = |
(1) Balasya Mulam Vigyanam (1) 9o Hoi fa=t=ie
(2) Tejasvinavdhitamastu ' @) ﬁﬁ'ﬁﬂﬂﬁ%ﬁ'ﬂ'ﬂ'\ﬁ
(3) Vayam Rakshamah - (3) 9T e
(4) Jagratam Aharnisham i (4) GG iR
105. Which of the followmg is not a Zoonotlc 105, feforRe § 9 @19 T Q'CF Qﬁ”éﬂ’: T TE
disease? : L e BT
(1) Mucormycosis (1) R RATSHIR
(2) Plague @ = ‘
“(3) SARS (3) TH.UIRTH. (SARS)
(4) Rabies (4 |
106. Trisomy 21 is known as — Dﬁ);ls)ﬂ?gzlzﬁ‘rﬁwﬁ%mwﬁww
| &7
(1) Evans syndrome (1) saig Rigw
(2) Edwards syndrome (2 veagw ﬁq—iﬁq
(3) Gray baby syndrome (3) ¥ Rigm
(4)- Down syndrome " (4 sree figm
107. A quantum dot s - - W.wmeaged - =
(1) Electron microscopy image of nanostructures (1) 1 F9fex R BT Soraeh
smaller than 1 nanometre GERE) ﬂf;?@qa o E-m
(2) A fictional nanorobot (2) T Hiog FREE :-fr
(3) Nanoscale analog of radio aniennas 3) mm e @ ;i ;
(4) A semiconductor nanostructire B EﬁT. _ ”i“-'ﬁ"ﬁ
) s e v I
01-%% Page 22 of 32 AR



108. Which of the following frequency bands is not

109: Which part of human body is infected by the -

used in INSAT/GSAT satellite communication?
(1) Ku (@cC
() MF (4) Ka

virus causing Japanese encephahtls‘?
(1) Brain

2 Lungs
(3) Skin

~ (4) Red blood cells '

110.

- (3) Forest :

11

An mverted pyram1d of biomass can be found in
‘which ecosystem" o ,

(2) Marine -
- (4) Tundra -

- Grassland

-A 'statemeﬁtt._is followed. by four -'z'trgun'lents'

numbered I IL 1T & IV. -Choose which of the

. argument(s) is/are strong-argument(s)?

. Statement : S:houldfv;the _ru_le of wearing helmet

'fot‘ both "d'rive'r and pillion rider
while dnvmg a. motor cycle be
enforced stnctly‘7
Arguments 1 No each individual knows how
to protect his' own life and it
should be left to his discretion.
1T Yes it is a rule and rules should
be followed strictly by all.

III Yes, it is a necessxty as the head -
sens1t1ve/controlhng‘
organ it should be protected by

is_' most

the helmet

v No, it does not ensure safety of

the head o
(1) None is strong '

(2) Only I and IV are strong

©(3) Only II and 111 ‘are strong

(4) Only I and IT are.strong '

108

ﬁwr ¥ q PN o :mqﬁ—r d INSAT/GSAT

| mw%geumﬁ:@%mm@?

109..

(3) MF

CMKu @c
. @Ka
Eﬁﬁrﬂ%@zﬁ’rwﬁﬂmﬁ‘?

- (1) wRaep
@ owe

110.

(3) e
(Mwawfﬁvaﬁﬁl?m .
a@wmwmﬁmﬁemwﬁﬁuﬁm

.aaﬁmmwm%?

(mﬂsﬂ
Nitag (4)§§T
wmmzktrsﬁmwazﬁl,nmaﬂswﬁq

(1)Emﬂr$rflm=r
@)aT

I

111,
-.welﬁw(ﬁ)ﬁmwg/g
ﬁ mq}awﬁmﬁaﬂﬁwm
aﬁstﬂ%ﬁqﬂemﬁewﬁﬁaﬁ%ﬁm
WHT?H%Q" f
'azﬁ Iaﬁmwﬁﬁmzﬁﬁﬁaﬂaﬁw_
DY BRI R ST R T 3 S0 e
wo‘reéﬁTﬂTi%Ql
I etaeﬁw%aﬂsﬁm‘ra%wp
mswammmn .
I g aemw%zml%ﬁﬂwzm
A e /i, o 2, T
%aﬁemmﬁiﬁsmﬂﬁm S
Nﬁé’f ueﬁwa%wﬂﬁﬁﬂaﬂﬁ
ghe Wﬂl% [
(1)aﬁs‘aaéﬁmqgesﬁ% .
‘-_'ftzlmlm?waéqma@%
-‘(&WHWHIH%W% o
(4) Bae 1 aT‘_r\r 0T 7o & 3 2

01-

*** '
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112. A statement is followed by two conclusions

113.

. numbered I & I1. You have to assume everything
in the statement to be true, then consider the two
conclusions together and decide which of them
logically follows.

Statement : Nowadays parents are prepared' to
pay any fee for an elite education
institute for the perfect development
of their children.

Conclusions : I Parents have an obsessive

passion for a  perfect
development of their children

through good education
institute.

Il These days all parents are very
well off.

(1) Only conclusion I follows

(2) Only conclusion II follows

(3) Both conclusions follows _
(4) Neither I nor II conclusion follows -

Study the following then answer the question —
Statement : The petrol prices have gone up

" during the past few weeks.

“(3) Only III

Courses of action :

I  The government should set up an expert
committee to study the trend of prices.

II The government should immediately reduce
taxes on petrol. .

I The government should advise the general
public to refrain from purchasing petrol for
few weeks. .

Decide which of the suggeésted course of action

follows. '

(1) Only I (2) Only I

(4) None of these

14,/Each of the digits 1,2, 3,4, 5,6, 7, 8 and 9 is

represented by a different letter in the following
figure, such that each of “M + N + P”, “P + Q +
R”,“R+S +T" and “T + U + V” is equal to 13.

‘ (3) Baa 11
WM. 37 o # A= @R 3 afmy 1,2, 3,4, 5,

2. 1% o & gear 2 sy 1 ik 1 feg ¢

€ | STt Ho W & TE TP TG By ad
PIFTY 5 Brar Frpd SER0 By
HU : aToTde AIAT—0dT IO g ¥ I
Rrpra @ Forg el R et @Y
fpa Y B 27 B TR wy
forspd : 1 ATaT—fAdr o) 0 R et @
qreE ¥ ofUe sTdl @ 9w faer
&Y g FAR T
11 ayToterel |t AT g 49 ATl
=
(1) Baet sy [ SR PR &
(2) dael Frpy 11 3@l BT &
(3) ST fepd SR FRA ©
@) =7 ar fsed 1 &R =1 & fspd 11 argeRor
Bl § |

Wwwaﬂmtﬁrwi—

T Bl

AR _ '

[ WHR ® U6 favus afafa &1 167 o
=R i BIal &1 UgRT B 3eaaT & |

I WWER P UG TN qRA S &H HY o7
ey | -

[l SRER B FAHEI ST DI Gl e+ A2y
gﬁﬁm%mﬁaﬁa@ﬂaﬁﬁm

|

grﬁua?lﬁm_ P P A B SR FRA
| _

(1) ®ad 1 (2) g 11

@) 3% 9 B T

6,7,8m9®w%%mw%,m‘rwm
g & 9% “M + N + P~ “P+Q+R”,“R+S

+T7 AR “T+U+V?, 13 & e &| R el

Which digit will ‘R’ represent?
MNP,
Q
RST
U
~ L. VY
(1) 3 ) 4
3) 2 @1
o
01-#%
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the followmo ﬁgure is —

(1) 19 (2) 23
(3) 21 - (4) 22

116. Arithmetic mean of the numbers between [ to
156 which are divisible by 2, 3, 4 and 6 is -

(1) 76 (2) 78
(3) 91 (4) 74

117. In the following diagram, rectangle represents
men, triangle represents educated, circle
represents .urban and square represents
government” employees. Which one of the
following represents educated men who are not

urban?
126 /13 :
9 DS
‘_l.]“:v- et
(1) 14 29 .
-(3) 4 (4) Ll.

118, In the following p1e chart, the percentage
distribution of the expcndlture 1ncurred in
pubhshmg a book is given — '

‘ Promotion

Printing .

Royalty

R E -’i‘i‘ﬁnsport
Binding e

' : Paper o
'If for a certain quantity of books,. the pubhsher
has to pay ¥ 22,950 for royalty, then:'what will be -

115, :ﬁ%ﬁqwﬁaﬁmaﬁ?mﬂ(m)aﬁm
T R -

1 19 (2) 23
@21 w2
1 9 156 a0 Gl @ Ae Rerd At oy

S Rp 2,3, 4 AR 6 A IS 2 AR
Heq BT — S

(1) 76 (2) 78

(3) 91 @ 74

17. 4y Ry o e ¥, s 7ot @, e Rifd
@, W?ﬁfraﬁaﬁ?aﬁmﬁmﬁmﬁ
TRl Fwar € FPeERiREa d @ @
ﬁ%wﬁmﬁﬁ%ﬁwﬁhwﬁ?

| m\,

S 12 ]6/13
9, ; 14
v/ u ‘

)14 @9
(3) 4 : @1

118. qmgﬁmzﬁmmﬁa‘ﬁaﬁmzmuﬁmﬁ
ﬁmwﬁw%f@ﬁqr%aﬁﬁﬁmwﬁ—.

e @ R W @ e af S

~ the amount of printing to be paid for the books? 8- -
(1) T 46,250 (2342250 (1) 46,250 2’ U @42250% =
(3) 36,250 (4) T 38,250 | .(3) 36,250% - - 938,250%
01- 1’:“* Page 25 of 32 ; A . - T]t
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119. Given bel(;W are two statements, one is labelled 119 3y <t o Ry My & UF B T (A) @R

as Assertion (A) and the other is Jabelled as TR T FROT R) & w9 F A Wy 3
Reason (R). . ; for the AT (A) © TR B B g FE AR 1 =T
Assertion (A) : Selecting the right man X & AqT W TIT BRA P Al
_ right job at the right pay is the + .
right approach. . qfedmr sl .
Reason (R): A wrongly selected man is a PR (R) : Tera goar T ot T& <ifed
liability. ne SR wed §, f & 9 P A0S G 8
@ the aboqve context, which one of the following M) A & 3T R ﬂgﬁ 3 .
18 correct! o e R A
(1) “A’ is true but ‘R’ is false | 2) < A’ T R a& & Afd
(2) Both ‘A’ and ‘R’ are true but ‘R’ is not | 4E @ T8 8 i
correct explanation of ‘A’ (3) ‘A’ Tord & oifhT ‘R’ L] o
(3) ‘A’ is false but ‘R’ is true _ (@) 2157 ‘A’ T ‘R’ R # gor ‘R, ‘A’ &I FEI -
(4) Both ‘A’ and ‘R’ are true and ‘R’ is the s WO
correct explanation of ‘A’ a“@l. k | _
120. Virendra is pthe son of Rajendra’s father. /"‘{0 aR= ‘{lGl’-ﬁ' Eﬁ_ﬁ?ﬂ‘iﬁf ASPT RS
Rajendra’s paternal Aunt is Manju. Adarsh is the T 2| aaet w9 BT ufer g- 3R GBI BT TS
husband of Manju and sou—?n—law of Prakash. 3| srer o & AR g &7
How is Prakash related to Rajendra? ‘ ) 2l 2 73
(1) Nephew (2) Son uf & qrgliil .” _ ) =raT
(3) Brother (4) Grandfather : _ | 1 e 11 S
121. A statement is followed by two assumptions  121- U@ @ & YZaq <) QR WA
numbered I and II. Consider the statement and - = B 3R SED UTE CUR ERCRIR)
the following assumptions and decide which of AR W) ﬁugq Fifore & A QAR
the assumption is- implicit in the given ¥ Iafifed 27 : .
statement? . - ' P : wferT & W gl BT fawre wue H
Statement : Lalita has a large collection of books AR a8 o |us ¥ wfnfera 9 B
and she keeps on purchasing new / fore = Hﬁﬁ\; e w2
books to add to her collection. . ‘ W . [ dferar ¥ oY W WS E e
Assumptions : I Lalita has read each and every T g 7 2
: book that she has purchased. : e 3 315 4R
I Lalita has love and passion for I E”EIE”;T[ g(i.laﬂ & forg @
books. . ‘ ' - S _
(1) Only I assumption is implicit () Bt Lgdon i @
(2) Only II assumption is implicit y (2) W I ‘Iém'\“’" emﬁl%a 2
(3) Both of the assumptions are implicit @) A o st €
(4) Neither I assumption nor II assUmp(iQn'is (@) =f ol q}‘ﬂﬁ“‘l‘r IR A1 B I t{c‘ﬂﬁ"’ﬂ
implicit - ‘ Jafifeg 2
122. If on a certain amount, the difference between 122 f¥ll ¥ & 5% aiffes == & f ¥ Tl
Compound interest and Simple interest at the SN AT AERYT 197 &7 3R 183 T 5,
rate 5% per annum for three years is ¥ 183, then T B —
the Principal amount is - R IO . 1
(1) 318,000 (2) 28,000 - (18,000% 2 8,000 ‘
(3) T 24,000 (4) 21,000 (3) 24,0002 - @21000%

01-#% | . Page260f32 | =7 ‘



128. Suppose that in a particular code, TIGER is
written as QDFHS and MERIT is written as
SHQDL, then in the same code, FROZEN will

be written as -
(1) MDYNQE (2) MDEZOR
(3) MEYNQD (4) EQNYDM

124. I an election of 3 candidates A, B and C, A gets
50% more votes than B. A also beats C by
18,000 votes. If it is known that B gets 5% more
votes than C, then find the number of voters on
the voting list, given that 90% of the voters on
the voting list voted and no votes were illegal.

Qe

(1) 90,000 (2) 81,000

w2, (3) 1,10,000 (4) 1,00,000
@125- A rectangular room is 12 meter long, 6 meter
wide and 4 meter high. It has two doors of size
2 meter X 1 meter each and two windows of size
1 .5 meter x 1 meter each. If the rate of paint

'Mi‘

‘3{7 (on the walls) is X 15 per square meter, then total

cost of painting the walls is -
(1) 2010 (2) T 1955

(3) 72155 (4) 72055 |
126. Some of the basketball players are volleyball

players, some of the volleyball players are

badminton players, no basketball player is a

badminton player.

Which of the following diagram. represents the

above statement?

(1) @) (2) @)
GZZD O@

127. A die is rolled three times. The probability of /7/@5 tITQEI & I IR Uhﬂ T | Yd IR” @

getting a larger number than the previous
number each time is -
(M 1/18
(3) 5/72

(2) 5/54
(4) 13/216

128. g1 el @ (d1s) fa9w # TIGER &
QDFHS &! <8 a2 MERIT &1 SHQDL &
e formr o a9 =i @ (@e) A
FROZEN &1 9 dvg forar S —

(1) MDYNQE (2) MDEZOR
(3) MEYNQD (4) EQNYDM

124. 3 gefigaRt A, BTG C D TH g1 ¥, A, B
50% ey dre T @ 21 A, C B 18,000
Al g W e 21 gE S w, B B, cy
5% iy dre WIe e &, a1 Adaran g w
it e @ A S Bieg, o
¥ P e g B 90% SR 7 e fad
qonr ®1s o dre 3y e A |
(1) 90,000 (2) 81,000
(3) 1,10,000 (4) 1,00,000

125-@&%@?%@12%?{@1 6 Hiex et
qor 4 Hiex FA £ T Q1 SO TS
2 drey X 1 Aex & ud 2 Rasfedl Wwe
1.5%8ex X 1 #ex & ¥ afy dErl w3
I B X 153 gy @ Aex B, O dari
W ¥ FRAM BT B I © —

(1)2010% (@) 1955%

(3) 2155% 4 2055?

126/ aredbedfer & o Raedl dehdfel & A Reerdh
§ dtefidiar & 5o Raerd) dsfiie & A Reerd
& ardedi 1 PE N RS dehieT @
Raerdr i &1
ﬁmﬁf@awﬁqm%ﬂ@wmzm

weffa FRar 87
" @ " @

/"GHD O@

-E“f —
(1) 1/18 ) 5/54 '
@) 572 @) 131216 .

01- %
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128. I 5 group 6 gitls and 4 boys, four children are 128. g 6 arsfHal iR 4 dSHT B WE ¥ A 4 g=al
to be gelected. In how many different ways can FT T Al 3| fraY STe—arenT a9 a

they be selected such that at least one girl should ST ae fedr S |Hal 2 Sty oo B9
be there? : . 3 PpH TP AP A B :

(1) 214 (2) 206 (1) 214 (2) 206

®) 210 (4) 209 @) 210 (4) 2097

129. Whep, watch shows 7:45 am, the minute hand 129 5rq B gag D 745 ﬁ@lﬁﬂ g, T fame ‘cﬁ
points towards East. After 3 hours, in which g @ # AR TN Fdl 813 W 9w, He
direction does the hour hand point? # §5 g B AR TN P 87
(1) North - East (2) East () aex — @ @

(3) South (4) East - South 3) =T - @ T{& — Tféror

130. A bag contains T 1, 50 paisa and 25 paisa coins  130- U it # 1%, 50 ﬁ"@l qAT 2%3?[@;?\' Ryad
in the ratio 25 : 9 : 5. If total amount in the bag 25:9:5% IFIA ¥ &) afs H fel o1
is 2460 Z , then the number of 50 paisa coins in 246022, @Y et H 50 Ay & Ryawt o1 wE&A
the bag is - ' ¥

-(1) 720 (2) 1760 (1) 720 (2) 1760
(3) 360 (4580 @) 360 | (4) 580 -

131. India = has  signed Memorandum  of 131. ured 2021 #, WA 7 freifra ¥ ¥ fFa <o @
Understanding (MoU) in March 2021, with e 3l qaE, HeAradr AR T D T H
which of the following countries on cooperation Feeitar soe. (THely) TR BN e
in the field of Disaster Management, Resilience ' 5y _
and Mitigation? . ! ' 5
(1) Bhutan ’ (2) Bangladesh: (1) 3eT 2) 41 E.“:}‘EI
(3) Nepal (4) Sri Lanka e, @sEe

132. Why Dholavira (Gujarat) was in news recently? 23/2 ST (T[OTE) BTel B ¥ @Rt # | ar
(1) Included in the list of National Parks z(f)‘\']ﬁfm S DI g H snfder fovam T -
(2) This site was hit by terrorist attack : (2) 78 I STIT'I'ET?T Aol T RIPR T A
(3) Recently included in UNESCO’s world @) g & # e @ faw faxraa @ #

Heritage site aftafera m T _
4) Declared as Tiger Reserve _ (@) E'l'&'TW ﬁ\—ﬂ?} S o .

133. Rajasthan Jan Aadhar Authority Ordinance 133. QORI O HER IGO0 ARy ol
came into forceon- . ol — o
(1) 18 December, 2019 : (1) 18 =R, 2019 B
(2) 11 January, 2021 _ | ) 11 S, 2021 @Y
(3) 18 December, 2020 _ , (318 fRfaR, 2020 B
(4) 11 January, 2020 | A @) 11 9999, 2020 &7

134. ‘Hunger Hotspots Report’ was released on 23 13423 91, 2021 & R gcwie RoE fHEo
March, 2021 by - : : BRI T Y TR _ :

(1) Jointly by FAO and WFP 1) (R ¥ o
: y by (1) (FAO) T (WEP) A1t & g Wrir 59 ©
(2) World Food Programme (WFP) ) freg @ P
3 | T RIS (WEP)
(3) UNICEF (3) TR ‘
(4) Food and Agriculfure-Organisation (FAO) ) ) aﬂ_‘EUNICE.F) .
. T 3R HY |16 (FAO) >

T % T
01-xx* A © page28of32 ,



135 “Who is the, author of the book “Sanskriti Ri  135. & ¢ 'ﬂ%‘:h‘ﬁf fﬂﬁﬁﬁ s ki E’l@?ﬁ Gkl ”E-*?

San t nr)
atan Deeth (1) areft & |

(1) Arjun Dev Charan .
‘| (2) Bhanwar Singh Samaur (2) ﬂ:d'\’ Rig AMR | N
- (3) <f. TR B

(3) Dr. Satyanarayan

- (4) Aidan Singh Bhati - () e Rig ey
136. Who has been granted Iﬁterpational Eni Award ~ 136. gr=Ris T+t erars 2020 W ETGT'T o
20207 | R
(1) Satyanarayana Reddy ' _ (1) IR ﬁg:c?r
(2 Amit Shah: ) aiftig e
~ (3) Ramesh Gandhi ‘ | (3) W i .
‘ (4) C.N.R. Rao o Y (4)@@;,’“7{ (G
137. Ttaly won the UEFA Euro-2020 by defeatmg 137. geaht A 5 T BY BDR W @—2020
which country in final? . TgA oilar?
(1) Portugal - .- (2 Ge'rmany . (1) gﬁ"'l‘lﬂ R (2) Grfl?'ff
_ (3) Denmark - (4) England ' @) gqma% i (4) 311%0@'
138. Who'is Najib Mikati? =~ =~ .~ . 138. qr:ﬁa ECa]] zﬁh %?
© (1) President of Kazakhétz_in" R e ' _ (1) zb—\;n%m I ?Tlg'trﬁ‘f
(2) President of Egypt o '. gt (2) ffrg ?.% wgqfﬁ
(3) Prime Minister of Lebanon ' L @) é?FTFT C W—;ﬂ
(4) Prime Minister of Malaysm ‘ @ T{ﬁﬁﬂﬂ P T ' |
139. Match list-I with hst—lI and 1dent1fy the correct ./13/ ﬂ?ﬁ-—l ﬁ 'ﬁ?ﬁ—ll GAGEIN AR 3l A R
answer from the code glven below -' oo ‘ ‘111;‘ @e fl K Ti?[ Gﬁ'\’ Eh‘[ 'iI'EFI Eﬁ'ﬁ‘rl'q -
List-I . ~ - . ‘ % if'LI
(A) BhavinaPatel . .. _'(A) mﬁmqé-a ;.
(B) Nishad Kumar ~ . . B) g AR
(C) Harvinder Singh™ - = -+ = ©) AR e
(D) Devendra Jhajharia =~ - \\ (D) éﬁa smgﬁm
List-Il i 7, , 3w
(i) Archery TONRNER O ffﬁmﬁ
(i) Javelinthrow . (i) e B
(iii) Table Tennis e e (i) o éﬁ'\q
(iv) High Jump ‘, : o o ! (i'v) S o]
Code- - : 0 S ael ?b‘d—_r g
(1) A-iii, B-iv, C-, D yzA—m B-iv, C-i, D-ii |
(2) A-iv, B-ii, Cii, D-i et T (2): A—IV B-ii, C-iii, D-i
(3) A-ii, B—iii, C—i, D-iv S A B, G, Dedy =
(&) A-i, B—ii, C—ifi, D-iv * ) Adi, B, Ciii, Doy
: ; ' . R Y hakitg
01-2% SRS ‘Page 29032 . i—l
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140. Who among the following won silver medal in 1490. =Ry % ¥ a1 e aﬂaﬁqzs 2021 1‘-7

Tokyo Olymplc 20217 Select the correct answer _ B3 [SoEd qa-qs foar w2 faa 11'3( B i q:@
from code given below - _ - SR B AW B —
(A) Ravi Kumar Dahiya . (A) 3 HAR afear v/
(B) P.V, Smdhu . _ (B) T ﬁ_‘—,—ﬂ W
© Bajrémg Punia ©(C) TR Hﬁmj
" (D) Mllgbal Chanu (D) BT T W
Code - ; | & * |
(1) (A) and (D) (2) (A)and (B).- - (1) (A) & (D)/ (2) (A) T (B) T
(3) (A) and (C) (4) (B) and (C) B)(A)TE(C) &« @ BTIEOC) 4
141. “Mission Niryatak Bano” campaign to promote  141. fiafae ovt @ ampieh @l @ o0 urew fhan
aspiring exporters is launched by — T “fiver Prafae a1 vafi fdar mar g -
(1) RIICO . (1) Rer (RIICO) &RI
(2) Rajasthani Foundation and RIICO : (2) YroRer HreveeH T R (RIICO) ERT
(3) Department of Industries, Government of (3) SaNT FoPaTe, XTI PR TR
Rajasthan @) Sg@rT fow, YRR WWOR @ Ray
(4) Department of 'Industries, Govemment of
Rajasthan and RIICO. " RUCO)ERT "~
142. Which player was the Indian flag bearer at the /142 S INffs 2020 @ WA WARIE H
closing ceremony of Tokyo Paralymplc 20207 . I ﬁgaﬁ YR £a9 qi8h §917
(1) AvaniLeékhara : i : (1) Efy ARt
(2) Devendra Jhajharia UL 2) e Tl
(3) Tek Chand _ - Sl = (3) TT =
(4) Sundar Singh Gurjar 5 Lo (4) g= Rie 113{7
- 143. Who among the following is  the author of the  143. fifesd & | &IH fRPFT iR @ oePY 39
book ‘Marathon War : Leadershlp in combat in BT 39 Wnﬁﬂﬁr-‘-r AHG gmiﬁ BT TGP
Afghanistan*? - . ¥
(1) Chris-Mooney LN _ (1) e =
~ (2) Jeffrey Schloesser . = . - (2) AW TARR
(3) Samuel Moyn LN - @3) -‘E}T;.a i
(4) Carter Malkasian L . (4) PIER FeHIRET
144. “NABIMG”is- = /ﬁﬁﬁ Rl R -
. (1) A variety of Barley | 1) & & s e
(2) A variety of Wheat - e s (2) 7% A U fbe
" (3) A variety of Maize =~ o e ok (3) T B TP e
(4) A variety of Millet | (4) ToRT B TP T ‘
145. Rajasthan government has launched an app o' 145. e el a1 feohiea Wﬁ?ﬁ Rilep]]
" help college students with digital academic P HEA USH TR B Y ORI WRER
materials. What is the name of this app’? T g T 9 P HR’*T foram & W Vg HT AH H@l
1 o TR A :
( )MyEducatlonLo app , | (1) o i QTI |
(2) MyBookLo app ,‘ R 2 T 95 o
(3) MyClassLo app Ok | (3) 1 T < ¥y 4

(4) MyCoachmgLo app T @ E PIRAT @ Vg

=4
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146. India’s first farm based “KUSUM” solar power

project was commissioned in which village of

Rajasthan?
(1) Bhaloji (2) Chanod
(3) Rani (4) Chitalwana

147. Who among the following have got place in
TIME 2021 list of 100 most influential people?
(A) Narendra Modi
| (B) Mamata Banerjee

(C) Adar Poonawalla

(D) Manjusha P. Kulkarni -

Correct answer i$ -

(1) Only (A), (B) and (C) are correct

(2) Only (B), (C) and (D) are correct

(3) Only (A) and (B) are correct

(4) (A), (B), (C) and (D) are correct

148. Read the following statements about Supply

Chain Resilience Initiative (SCRI) - -
(i) In the context of International trade, supply

chain resilience is an approach that helps a

- country to ensure uninterrupted supply of
import in an unexpected situation.

(ii) This is an initiative of five countnes, Ind1a -

is one of them. _
Choose the correct code -

(1) Only (i) is true

(2) Only (ii) is true

(3) Neither (i) nor (ii) is true
(4) Both (1) and (ii) are true_

149. President - Ram Nath Kovind' granted assent to

which Constitutional Amendment Act on 18“' .

' August 20217 -

AR B YA Iiﬁcﬁ amRa “HgA’ WR FHell
s IR B oRe™ B B T ¥ e
foran war?

/ﬁ)nwﬁrrﬁ (2) Tmig

(3) <Y (4) fercrerar
Wﬁwﬁmﬁﬁfmﬁaﬁnmuﬁvﬁmmn
, mmmmﬁqmm%me?
(K) T A

(B) ¥Hl GGl

(C) SR rATaTel

(D) o . et

HE T B — |

(1) Baa (A), (B) 3R (C) T2 E

(2) daet (B), (C) 3R (D) W&l €

(3) Baer (A) 3R (B) WA

{4).(A), (B), (C) 3R (D) W& &

148.

argﬁ'rmaiﬂwqﬂqea(scnna%zrnﬁ

| faefaRad FHaEl B ufey —

(1)m@uw$waﬁmtgﬁ _
T TH JREDIT B, a‘r@?éwa?r
ey, s Rl F omara @ fafy

agfef @ gRed w1 A HeE BRAT B |

f(ll)ﬂ%'mﬁ?:sﬁa‘?r‘q‘cﬁm% ART S ¥

R
Wé’faﬁgﬁq—

CMEa @) Ea R

149.

(2)253?{(11)'\‘131%\'

@) 7 2 @) IR A (i) ¥ B

@ 3 () R (i) T §

TSl TE BT S e dfeE
aﬁﬁwaﬁlsm zozla?rmﬁ’ré‘f?

© (3) 106" (4) 105" ;_(3) 1063 (4).105df . !
150. Tianwen-1 is - 150: ﬁl'q'l:l?ﬁ =18
(1) Moon rover vehlcle of Chma ‘m ClE| cal TEAT AR T
(2) Spacecraft of. Chma ' . (2) 95 @7 Gﬁﬁ&mﬂ
' (3) Inter Continental Missile of Chma ' (3) == TR .
BT IR fﬁ\q‘éﬂ'
(4) Space Station of China (4) = T 3eTRer 1%"217-[
)
* =
. =
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